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Credits: Four

Achievement Achievement with Merit Achievement with Excellence

Demonstrate understanding of 
evolutionary processes leading to 
speciation.

Demonstrate in-depth understanding 
of evolutionary processes leading to 
speciation.

Demonstrate comprehensive 
understanding of evolutionary processes 
leading to speciation.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet and 
clearly number the question.

Check that this booklet has pages 2 – 12 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

Excellence

22

No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.
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Excellence exemplar for 91605 -  2015 Total score 22 

Q 
Grade 

score 
Annotation 

1 8 

The candidate has shown a comprehensive understanding of convergent and 

divergent evolution and the processes that cause them. They have also clearly 

linked named analogous and homologous structures to the type of evolution.  
The candidates answer is clear and concise with minimal repetition.  All three 

‘Excellence’ points are covered in this answer. 

2 7 

The candidate has evaluated the data given in the graphs to explain why 

selection pressures may cause some green anole to perch higher than others. 
They have then discussed how this niche differentiation may lead to greater 

divergence and possibly speciation, and thus they have an E7. 

3 7 

This answer has gained an E7 by looking at a new maned feature (wider 

xylem) that can be a consequence of polyploidy.  The candidate has then 
explained how this feature allows the polyploid to survive in environments that 

would not otherwise be available to them. They discussed how there would be 

different selection pressures in the different habitats and how this may lead to 
speciation.   

A more detailed discussion of the actual process of non-disjunction, forming 

diploid gametes and the fusing of these forming a tetraploid which may be a 

new polyploid species may have earned this candidate an E8. 

 


